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SAMPLE PAPER-  09
Class – XII
Subject – Mathematics ( 041)

Time: 3 Hours      

  Max. Marks: 100
General Instructions:

1. All questions are compulsory.

2. The question paper consists of 29 questions divided in to three sections A, B and C.  Section A contains 10 questions of 1 mark each, section B is of 12 Questions of 4 marks each and section C is of 7 questions of 6 marks each.

3. There is no overall choice .However, an internal choice has been provided in four questions of 4 marks each and two questions of six mark each.

4. Use of calculators is not permitted. 

	
	SECTION- A



	1
	[image: image31.png]Find the angle between two vectors  a  and  b  with magnitude  √3  and  2, respectively having   a  .  b  =  √6



	2
	Construct 3x3 matrix, when elements are given by  
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	If f(x) = 
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, discuss the continuity at x→ 1 by graphically .


	4
	If a line makes angles 900,1350,
[image: image3.wmf]45

0 with the positive direction of X,Y and Z axis respectively , Find the direction cosines .


	5
	If A = [image: image4.png]


,then what is the value of |adj A|


	6
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	7
	Evaluate: 
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	8
	Let A = 
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} and  B = {a,b,c} , then number of functions from A to B that are onto is 
i) 3n – 2n       ii) 3n – 2n -1  iii)  3(2n – 1)        iv) 3n - 3(2n – 1)        


	9
	What is the maximum value of 
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	10
	Events E and F are two independent events .If p(E) = 7/20 and p( E
[image: image9.wmf]U

F) = 3/5 then find p(F) .


	
	SECTION- B


	11
	Define a binary operation * on the set  { 0, 1, 2, 3, 4, 5 } as  
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 , Show that 0 is the identity for this operation and each element of the set is invertible with 6 – a being the inverse of  a.

	12
	Prove that if a function is differentiable at any point, it is necessarily continuous at that point.

                             OR

If f(x + y) = f(x) +f(y)  for all x,y in R and f(y) = 2 ,f ‘(0) = 3 then find  f ‘(5) .

	13
	Solve: 
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	14
	Prove that :  
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	15
	It is given that for the function f defined by 
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	16
	Evaluate  
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	17
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	18
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	19
	Express the vector [image: image21.png]S-2j+5k



as sum of two vectors such that one is parallel to the vector [image: image22.png]


and other is perpendicular to [image: image23.png]


.

	20
	If cos-1a  + cos-1b + cos-1c = (, prove that a2 + b2 + c2 + 2abc = 1


	21
	A variable plane is at a constant distance p from the origin and meets the coordinate axis  in A,B,C .Sho0w that the locus of the centroid of the triangle ABC is x-2 + y-2+ z-2 = 9p-2


	22
	A balloon which always remains spherical is being inflated by pumping in gas at the rate of 900 cm3/sec. Find the rate at which the radius of the balloon is increasing when the radius of the balloon is15 cm.

	
	SECTION – C

	23
	If f(x) = ax2 + bx +c is a quadratic function, such that f(1) = 8, f(2)= 11,        f( -3)= 6 , find f(x) by using matrices. Also find f(0) .

	24
	Show that the two lines 
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 intersect. Also find the point of intersection of these lines .

	25
	Evaluate 
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	26

	A brick manufacturer has two depots, A and B, will stocks of 30,000 and 20,000 bricks respectively. He receives orders from three builders P, Q and R for 15,000;

20,000 and 15,000 bricks respectively. The cost ( in Rs ) of transporting 1000 bricks to the builders from the depots are given below:


         From

     To

P

Q

R

A

40

20

30

B

20

60

40

       How should the manufacturer fulfill the orders so as to keep the cost of 

       transportation minimum?



	27
	A given quantity of metal is to be cast into a solid half circular cylinder (i.e., with rectangular base and semicircular ends). Show that in order that the total surface area may be minimum, the ratio of the length of the cylinder to the diameter of its circular ends is (:(2.

                                        OR
 A window is in the form of a rectangle above which there is a semi-circle. If 

      perimeter of window is p cm. Show that window will allow the maximum 

      possible light only when the radius of semi-circle is      p      cm.

                                                                                          π  +  4



	28
	
[image: image29.wmf]?

yoga

and

meditation

of

course

a

followed

patient

 

that  the

y

probabilit

 

the

Find

attack.

heart

a

sufferes

random

at

selected

patient

the

options

two

the

of

 

one

through

going

after

that

given

 

is

.It 

ies

probabilit

equal

with

options

two

the

of

one

any 

choose

can

patient

a

time

at

25%.At 

by

chance

its

 

reduces

drug

certian 

a

of

on

prescripti

 

a

and

30%

by

attack

heart

of

risk

the

reduce

course

yoga

and

meditation

a

that

assumed

also

.It

40%

is

attack

heart

a

having

patient

a

of

chance

the

that

Assume




	29
	. 
[image: image30.wmf]4

 

y

 

 

)

 

2

-

 x 

(

  

and

 

4

y

 

 

x

circles

 

 two

between

 

enclosed

region  

 

 the

of

 

area

 

 the

Find

2

2

2

2

=

+

=

+




Paper Submitted by:

Yudhistir Debata  /Email yudhistir_debata@yahoo.co.in /Phone No.  02882327948






-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

_1290669035.unknown

_1290678732.unknown

_1290967514.unknown

_1290968430.unknown

_1294142067.unknown

_1290968107.unknown

_1290679812.unknown

_1290676674.unknown

_1290677092.unknown

_1290677158.unknown

_1290677171.unknown

_1290676933.unknown

_1290670956.unknown

_1174760709.unknown

_1268030908.unknown

_1287854531.unknown

_1287854796.unknown

_1270612416.unknown

_1255930338.unknown

_1256322686.unknown

_1254069217.unknown

_1255819723.unknown

_1157029721.unknown

_1162354010.unknown

_1164890334.unknown

_1113751650.unknown

